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User Documentation

Objectives:
Using the Inference aplet, the student will be able to perform standard calculations involving Hypothesis Tests and Confidence Intervals.

Functionality:
When the student presses  START  , the screen will display the results of the last calculation.  It is not possible to  RESET  this aplet since there is no real default state to return to.

To initiate a fresh calculation, press the screen key labelled  NEW.  The list box which appears can be used to choose between a hypothesis test or a confidence interval.

The next choice is of the type of distribution statistic which is to be used.  These are:

Z-Test: 1 
This tests the significance of a single sample mean given a population mean and standard deviation using the normal distribution.

Z-Test: 
This tests the significance of the difference between two sample means given a pair of population standard deviations using the normal distribution.

Z-Test: 1 P

This tests the significance of a single sample proportion given a population proportion using the normal distribution.

Z-Test: P1-P2
This tests the significance of the difference between two sample proportions using the normal distribution.

T-Test: 1 
This tests the significance of a single sample mean using a population mean and sample standard deviation using the normal distribution.

T-Test: 
This tests the significance of the difference between two sample means given a pair of sample standard deviations using the normal distribution.

If a hypothesis test is chosen then the next choice will be of an alternate hypothesis.  The box shown right is for the Z-Test: 1 The appearance will vary slightly according to the test chosen.

Once the test type and alternate hypothesis has been chosen the aplet will request the required information.  The example series of input boxes, and the results, shown right are for a Z-Test: 1  and an alternate hypothesis of   

As can be seen, the required input for this combination is the sample mean, the population mean and standard deviation, the sample size and the significance level.

The output for this option is similar to the others, showing the value of the z value of the test sample mean, the probability of finding this value given the population mean and standard deviation, and finally the critical values for the z score and sample mean given the significance level chosen.  Whether the decision is made using the probability or using either of the two critical values, the choice here should clearly be to reject the null hypothesis.

The second output screen shows the equivalent information for an alternate hypothesis of   In this case the critical z is given as a  value.  Similarly the critical sample mean values are given as a range within which the null hypothesis should be accepted.

If the original choice was for a Confidence Interval then there will be no request for an alternate hypothesis.  There will also be slightly less information required in some cases.  For example, in the Z-Test: 1  case there will be no request for a population mean for reasons that are hopefully obvious.  The output is as shown right, giving the maximum and minimum values for the confidence interval (in this case using 0.99 level).
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Note:
This aplet has an attached library module which will be transferred with the aplet so it is important not to break the link before this happens.  If the aplet is deleted then this library will also be automatically deleted.  This aplet is fairly large and consumes approximately 23% of the user memory on an HP38G.
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